FR0%E NEZANRRMES OECEE FREES Qo0
8H 1H _ _ . ERHEFREL20E
BHRUNCYF—Ya VABRSOTER TEL 025035t (R%)

g H ﬁ_[gﬁﬁ BrgE 18| BCaEH28| B fHEE
T EFHAM Ei%’ 17,120 1712 3,424 5.136H
JEYF—i 3y ExE2 36,150 3.615M 7,230 10,845F
EESaEErEnE 2,250 225M 450H 675H =
UnkEysF—=iav EXE1 . = cEEAHS
A T D 1A%kY 3,300 330M 660 990 T E OE TEEE SEah SEEE
H— Ik ERIET 2400 24H 48 72 5 BERE LLE S 673 1,346 2.019M
HiEnE (1) EE P 480H 48H 96 14415 6 B £ = 790MH 1,580 2.370H
FREENE [1EHEY 1,500 150F 300 4501 H E- 807 1,814H 27218
HTERBNARENE (D) BEGEBREERD ST, 4 7%EELEE | E oy I 1,044 2,088 3,132
Y 1,180M 2 360F‘-':] 3,540
S EERER ﬁﬂ)’r‘)/\tUT—vaJE 1BHiY n o= E BC. &
F soBE 1Bl eRaEsE] S HIE3E = 181518 ZEJ%}EI 31518
I 5.760H 576 1,1521 1,728 7 B Bk 5 816M 1,632F 2,448
5 B BLE ESe 6.880M1 688H] 1,376 2,064F3 8 BEPY ki —alles 959 1.918A 2,877
6 H’#FE] R EIrE3 7,990A 7994 1,598 1,598M " 27153 1,105/ 2.210H 3.3150
H E4riEa 9,300 930M 1,860H 2,397F] 0y 2 12758 2,550 3,825M
EH#5 10,600/ 1,060 2.120F 3,180 i 1,442/ 2,884 4,326/
ETIE T 7,120 1125 1,424 2,136F
7 B LLE iz 8,490 8490 1,698F 2,547 (ER%EH]
8 BERY ki Ei & 9,880H 988H] 1,976 2,964H 1. NETEhmE
B ENnEs 11,5104 1,1518 2,302 34530 2. UNEYF—2avT 3T AV MME (1) (30RO HEEYHRE)
EIri5 12,1004 1,310 2,620 39309 3. H—ERRH#FFEEmE(D)
ABIrEINE 500 50 100 150H 4. frERENRREMHE(I)
YnEF—2iaw -
<xoapmgn)  |PAARS CRmeyl COR| M| e6oH] oM LRSESSARBR ARSI A
UNEYF—iai BEss A B6H BN 8.500F] 850M 1,700 2,550/
TR AT 67K 5,300M 530H 1,060 1,590 Rig A RRNAE k2 &
B s | DiDAIZEEREE 1mmty|  1100M 10M|  220M 330F & B (amsom) BB 200F
EETERL RASLIARN] Rl 20,000H 2,000H 4,000 6,000H] sy 200H
YnE)F—ianmu SEHEBALA - 10,0008 1,000 2,000H 3,000H BEO® [ AL ) 18 150M]
FERENY 1E#HI=Y 1,500 150 300H 4504 R/ vk 208
H—F g EREmE() GO H 6 12 1815
RHERHEPINT)TvEEME(T) [1Rbr=Y 19,2001 1,920 3,840F] 5,760H]
TERSNLEHEME (1) ECEHEERERM A, 47%EFE LS




